1. Consider the following:

Suppose people form adaptive expectations. This means that if they observe that the inflation rate in the last time period was (t-1, then they expect the current inflation rate to stay the same, such as the following:

(te=(t-1

(t+1e=(t
(t+2e=(t+1 and so on

To begin with, let (=0.5, un=7%, (t=0, ( t-1=2%.

(i) At time t: Use the Phillip’s curve to find the equilibrium (t if ut=un.

(ii) Now suppose at time t+1, (t+1=10 (%) and remains constant at 10 thereafter. Interpret the meaning of (t+1>0 and constant thereafter.

(iii) For simplicity, assume that the impact of (t+1 on Y is %(Y=-((t+1-(t). Use Okun’s law to find ut+1. See text chapter 2, page 37 for more information on Okun’s law.

(iv) Find (t+1.

(v) Find (t+2e.

(vi) Use the Sticky-wage model to explain how changes in (e would affect Y.

(vii) For simplicity, assume that for every one percentage increase in (e, the firms lay off some workers, produce less, and %(Y=-0.5*((e. Find ut+2.

(viii) Find (t+2.

(ix) If the government and the central bank do not take any actions, what would happen to this economy? Would you expect inflation to subside? What should the authorities do? Explain. What would happen to the Phillip’s curve as AD shifts? Explain.

(x) Find the equilibrium (t+3 assuming that the expansionary G or M policies would bring back ut+3=un.

(xi) Plot the Phillip’s curve(s).

Answers:

(i) (t=2%.

(ii) It is an adverse shock on the aggregate supply side, such as the OPEC crisis in 1973 and 1979. ( remains constant would imply that some production capacity in the world has been destroyed due to the political instability in the Middle East during this time period.

(iii) ut+1=14%.

(iv) (t+1=8.5%.

(v) (t+2e=8.5%.

(vi) As the workers found out about the new and higher price level, the revised their expected P and ( rate, ask for a higher nominal wage rate. For the remaining workers that the firms still employ, the firms have to pay a higher nominal wage rate to keep the workers.

(vii) Ut+2=14%+3.625%=17.625%. As a result of the rise in the nominal wage rate, the firms face an even higher production cost and would lay off some more workers.

(viii) (t+2=13.1875%.

(ix) No, inflation would accelerate, so would production costs, and u would continue to increase. The economy goes into a state of high inflation and high unemployment, or stagflation (stagnant economy, high inflation). Need AD to increase through increase in G or Ms. As AD shifts out, U decreases, which corresponds to movements along the Phillip’s curve.

(x) (t+3=23.1875.

